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Hall-Yeaurly Examination - 2023
e ESxin COMPUTER SCIENCE Mars
PART - |
Choose the best answer (15x1=18)
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When your syslem rastarts which type of bogting s used
) wisrm booling b) cold boating ©) louch boot d) real boot
2000 in roforred an a) Kilo b) Tera ) Peta c) Zelta
Which s the fastest memory o) Hard disk b) Main memory ¢} Cache memory d) BluRay disc
Operating ayntern is & a) Application software b) Hardware ¢) System software d) Component
The shortcut kry used 1o rename file in windows a1 F2 b F4 ¢)F5 c) F
=5 belore the assignment | =1 after the assignmen! the value of | s 35 bjd c)3 d)2
SAPp0sa u,v= 10 1 belore the assgriment, what am the valuos of u and v afle” the saquence of AsWQruments
Pusy 2 veu aluveSS hjuve1d§ c)ove5 10 d)u.v=10 10
Who coined C «e?
al Rick Mascitt b) Rick Bjarma ©) Bill Gates d) Dennis Ritchie
What will be the result of the following statemeant
char ch= 8
coul=<{int) ch
a)B b)b c) 65 d)66
How many times the following loop exscute? For(ing =0:1<=10 j++) a0 B)10 c)9 a) 1
Which function is used to check whether a charcter is aipha numenc or not?
a)isalpha() ) sdigit() ) slower() d) salnum()
int age{ |={6 90 20 18 2}, How many elamants are there Inthis array? ajA b)5 c16 d) 4
void dispchar(char ch='S int swe=10) '
(
forfint iz jcsgizg |4+
cout<<ch
)
How will you invoke the function dispchar | lor the following input
a) dispchar() b) dispcharich size) ) dispchar($ 10 d) dispchar('§ 10 times)
Which visibility mode should be used when you wanl the features of base class 1o be available 1o the
derived class bul nol o the classes that are denived from the derived class
alprivate b) public ) protected d) all of these
The process of converting cipher o plam lest s called
a) Encryption b Decryption Gl Anti-virus d) proxy server
Anowar any 80X PART - 11
Y X questions Question No 24 is compulsory. (6x2=13)

16 Distinguish between data-and in formation
17 What is mult user aperaling system ?
'8 Define an algorithim

18 Dabne

40 W""’l-lllhuﬂhuhmmn“h
. ayword with an
1 WhE are the IMpanances of ol ) dwia ¢ = 'El'ﬂ'!"l"lplﬂ.
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What s warez?
What s TSC19
Wirite the De Morgan s law
PaRT - Il

Answor any SIX questions
Give the truth tabie of x o g'm?""'th“ No 3y |5 compulsory (6x3=18)

Wit down the intge
Dilerentiate copy m;t:]:::‘““ pons av “'l"‘u!h a compuler
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28 Whal s case analyss?

- 7
25. Define n fmy! ik 7,4 ng a new class?

30 What are the ponts lo be notled while demi

31 Differentiale = 8nd == )
32 What are the rules for function overioading |

33 Wnat will be the result of the following program?

il y®ar
cin>>yaar

d (year % 100 ==0)

if (ymar % 400 == 0)
oout<<"Ledp

LY )

cout<~"Not Leap Year

A the input given i (1) 2000 (1) 2003 (W) 20107
- PART - IV

Answer all the questions.
14 a) Discuss the various generation of computers (OR)
b) What are the different types of cyber attacks

15 a)Find 1's complemaent and 2's complement for the following dacimal number

b) Explain the differant types of inhentance
16 a) What are the types of Errors? (OR)

b) Write the output of the following program

Minclude<iostream >

using namespace std.

class student

{

int o, marks

public

student(inl rint m}

{

cout<< Construclor”< <end|

mo=r,

marks=m

!
void printdeli )

I
marks=marks+ 30

cout<<"Name Bharathi"<<end|
cout<< Roll no "<<mo<<™\n’
cout<<"Marks “<<marks<<end|
)

13
Int main{)

1.

ctudent s(14 70),

s printdal| ),
cout<<"Back to Main®

"return 0,

}

37 a) Explain the different ways of finding a file or foider
(OR)
h) Call by value method with a suitable example
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(Sn5=235)

a-98 b)-135 (OR)

38 a) Debug the foliomng program
%include(iostream h)
#include<conio h>
class (A)

[ pubc:

intal al al

vold getdatal]

[a1=15 a=13 a3¥=13}}

class B public Af{)

(PUBLIC

voidiunc()

{int b1 b2 b3

A getdalal]

bi=al

b2=a2

al=al
coute<hl<<|"c<h2e<T"<<hl }
vaid main(}

{ B der

der 1 func() )

(OR)

b) Write a note on the basic concepts
that supports OOPs
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